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Reference
v = 8 Q / O D 2

where
Q = Flow Rate ( l/min )

( Area x Precipitation )
= x
=
=

D = Pipe Diameter ( mm )
O = Defined in terms of the angle

= 2 -1 (( 1 - 2 d )/ D )
d / D = ( 1 / 5 ) 1

v = Velocity ( )

when
O = 2 -1 (( 1 - 2 d )/ D )

= 2 -1 (( 1 - 2 x 1 )/ 5 )
= 2 -1

=

Rain water connection pipe size is

v = 8 Q / O D 2

= / D 2

D 2 = /
D 2 =
D 2 = /
D 2 =

D =

=

Location Pipe No.TC Lot 1890 & 1886

64 cu.m/hr
1067 l/min

Refer to IOP Formula is

320 sq. m 200 mm/hr

m/s Minimum self-cleansing velocity

cos

cos
5Proportional depth of the flow Say full for pipe

cos
cos -0.20

3.54

Say 0.5

1.883 17066.67
17066.67 1.883

0.50 8533 1.883
1.883 8533.33 0.5

9065.32
95.21 mm dia.

Say 225 mm dia.

(PART)TC Lot 1890RP & 1886


